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For if it is considered damage - PIO TONRR ORT

Overview

The X3 suggests that we can infer from the 72711 Max of 1"7 (specifically
ToIm ynTAM Xavan) that he maintains PP 7w X2 1971 1K%w P, For if he
would maintain P1°7 7°nw, then why mention 701 ¥272m Xaunn when they
are already included in the general category of pr.'

MooIN anticipates a question:
— (3,3 97pv») PPN AMNN PPN NNIY 9INRT NPPINT ) HY IN)

And even though 32, who is the one that maintained that 12°1 1°XW 1777
is considered a 1977, was refuted in °P1357 P79, and the ruling is that 11X pri

PTN RW IR? 72°3; why therefore is there any need to discuss whether X*17 ' maintains
P10 PRW D1 IPRY P10 —

mooIn responds:
$PPITN VAN NN 2297 X932 MIPINT N9 XN OIPN YN

Nevertheless (even though P was refuted), the X723 would prefer to

establish the Xn>2 of n''3, the father of 7°p117 (even) according to *7pin.
Therefore the X71x concludes that even if 11"1 would maintain (like 7°P11) that RW 217
P17 AW 12°1, he would still include 21 Xnwnri, because 121 R121°17 X1 Xin. There is no
conclusive proof from this Xn>12 whether 1" maintains P 7AW 92°1 WRY Prm or IR?
PTI TNY.

Summary
The X773 is attempting to reconcile 7°P11 (who maintains 7% 1271 1RW P17

P1°17), with the Xn»92 of his father 1", who enumerates 7012 YT xnunn.?

Thinking it over
Is Moo question and answer referring to the question of the X723 (120 R’
21 1"9), or to the answer of the X773 (121 R121°727 RP1 KiN)?

! If, however, n"3 maintains that P77 W 1R? 1% WKW 21°7, then it is understood why he mentions X»unn
701 ¥nTam; that even though they are not a (72°1) P11, nevertheless there is an obligation to pay (because
of a 01p).

% If there were a positive inference from the 012 of 1" that he maintains P77 7AW 1R 1251 RY P, it
would be difficult to understand why his son 7°p111 would disagree with him.

? It is not however trying to prove that "3 maintains pPra Rw K2 92°1 WKW P,
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